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I- Groupl: 1-7

II- Group2: 8-13

III- Group 3: 14 - 24

IV- Group 4: 25-33

V- Group5: 34 -38

VI- Group 6: composition

:clBaada

el Db o Jhsae JS diatid) Al pag -

sl LY ) e (X) 0ld) pas -

el bl 8 e sanall Al die aape B aiagiy doseae JSTLLY) Glayy pend -
Agpell Bl 4S5 Ly (i

gaadl e JS Jams Slasall Joan 8 L) panadd) Jisl) ) desane JSdap g -
(balls sy sl Jis el pe) Lale wisys ol S

Jsiall 385 Glajall g555, gy Galall Joaall axpe L) poiage maai lgd 22 -
el Jia JS 4 gy i) 48y Ae(T, G, V, S, C) capnl) auasis dajadll
Sl s B paadall Jaall ) 48555 gy Gan agiy pand o s S

2 Al Ak sha auall g a sl g Al (3 gia 2014 alad 6V Adlatia¥) B Al ald /aladl £ Al Ay SISy ARL Sake

oSttt S S S S asa o o A A% aS a8 a5 a5 5 5 a5 S 8 82X a0 e A A% A% a5 4% a5 25 25 a5 8 a8 8 2SSt A e A e a% S a5 5 25 5 5 a5 S S e e e e a¥ A% a5 a5 5 a5 a5 a8 a8 St e A e e aS a5 S a5 a5 a5 a5 a8 a8 a8 a5 X 8
aSa%a% a8 2% a0 A% a8 a8 S0 a8 a5 a5 a8 a5 a5 200X 0% a5 a5 50X a8 5 a8 a8 a8 a5 a8 a8 4% a5 0808 a8 a5 a8 a0 aX a5 45 a8 a8 a5 a5 50X a8 a8 a5 508 a8 5 a5 XN S a5 a8 a% a8 a5 S N 0% a5 a5 a0 a8 5 a8 X a8 S S a8 S S X 5 a8 Y

144449444949494494949494494949494494949444949494949491949449494944949494944494949444949494949494949494949494944344



£344494494949494494949494494949494494949444949494949491949449494944949494944494949444949494949494994949494944344

S aSaS a2 2 at oSS a A A A% A% A% a5 a5 5 5 a5 S a5 S S St o A e aS A% a5 2% a5 5 a5 a5 a8 a8 S S X A A A A% A% % 0% a5 5 25 25 5 a8 8 a8 a8 a0 e A% aS aS a5 5 5 5 a5 a8 S S S a8 S A e aS aS a8 a8 a5 a5 S a5 a8 S a8 S a5 a5 8

Group 1 - From (1-7)

Model answers: (1-3)

1- (The sand gazelle / It lives) across / in the Arabian Gulf and North Africa.

- If the student mentions only one place, his answer rates full mark.

2- (They are suited to the desert environment ) with their white heads and

sand-coloured bodies.
- Their white heads and sand-coloured bodies allow them to blend into
the desert, camouflaging them from predators.
- They are excellent jumpers and they use their speed and agility to
evade the attention of predators.

- If the student mentions only one reason, his answer rates 3 marks.

3- (The sand gazelle / It is in danger of extinction, mainly due to / because of)

habitat loss and hunting.

- If the student mentions one of the two reasons: habitat loss or

hunting, his answer rates full mark.

Remarks from (1-3)

(N.B):- Information between brackets is optional.

1- Each item from (1-3) is allotted 6 marks.

2- Overlook irrelevant information.

3- Overlook copying, spelling and grammar mistakes.

4- Any logical answer is accepted.
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Model answers from (4-5)
4- evade
5- predator(s)

Remarks from (4-5)

1- Each item from (4-6) is allotted 5 marks.
2- Only the above mentioned answers are accepted.
3- Overlook copying mistakes and capitalization.
4- If the student writes two answers for the same item, consider the first.
Model answers from (6-7)
6- Sand gazelles are (very) quick and their top speed is 100 km per hour.
- Sand gazelles are (very) quick and have been known to reach speeds of

(almost) 100 km per hour.

7- Recently, people in Syria have become (more)aware of the importance of
saving wild animals.
- In Syria, there is an increasing awareness about the importance of
saving wild animals. (N.B. This sentence should be written completely)
Remarks from (6-7)
1- Each item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical answer.
3- Overlook copying, grammar and spelling mistakes.
4- If the student writes only the correction without rewriting the whole correct

sentence, his answer rates full mark.
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Group 2 - From (8-13)
Model answers (8-9)
8- (b) / wrong
9- (c)/small
Remarks from (8-9)
1- Each item is allotted 6 marks.

2- Either the letter or the complete answer is accepted or both.

3- If the student writes two answers to the same item, consider the first.

4- Overlook copying mistakes.

Model answers (10-11)

10- embedded

11- malfunction

Remarks from (10-11)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4-1f the student writes more than one answer to the same question his answer

rates zero even if one of the answers is correct.
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Model answers (12-13)
12- e, the stop / the failure of bus-ticket machines to work.

= e bus-ticket machines to stop/ to fail
= e (only) minimal damage

13- s the media
N.B. - any type of media is accepted(e.g. radio, TV,...)

Remarks from (12-13)

1- Each item is allotted 6 marks.

2- The above mentioned answers are accepted in addition to any logical
completion related to the text.

3- Overlook copying, grammar and spelling mistakes.

4- Any addition or omission that doesn't make distortion is overlooked.
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Group 3 - From (14-24)

Model answers (14-16)
14- been

15- which / that
16- and / with / in addition to / as well as / besides

Remarks from (14-16)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Spelling mistakes are overlooked unless they give rise to new words. If so,
the answer rates zero.

4- If the student writes two answers to the same question, consider the first.

Model answers (17-20)

17- curious
18- enjoyed
19- ground
20- himself

Remarks from (17-20)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes and capitalization.

4- If a student writes two answers in one space, his answer rates zero.

5- Repeating the same answer more than once rates zero, even if one of them is
correct.

6- Answers in the form of numbers rate zero.
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Model answers (21-24)

21-

Where did your brother / Hani travel (to) ?
- Who travelled / went/ had been to Australia ?
- What did your brother do?
- Who did travel to Australia?
- Where is your brother Hani?
- Which/What country did your brother travel to?

- Which brother/of your brothers travelled/went/had been to Australia?

N.B. If the student writes whom instead of who deduct 3 marks

22-  What is he studying / doing there / in Australia ?

23-

- Why did he travel there?
- Which/ What subject is he studying there/in Australia?

How long / how many years / How much time has he been there / in Australia?

24-  Any logical answer related to the question is accepted even if the answer is

one word.

Remarks from (21-24)

Each item is allotted 8 marks.

Deduct 3marks for wrong question word / word cluster.

Deduct 2 marks for any grammar mistake provided that the total
deduction should not exceed 3 marks if the question still makes sense.
e.g. wrong tense, wrong auxiliaries, wrong articles, wrong pronouns,

If a student writes two questions for the same answer, consider the first.
Overlook capitalization and spelling mistakes.

If a student writes the correct question word only, his answer rates 3 marks.

N.B: Yes/No questions rate (5 marks ) unless they include the answer ,if so the

8

answer rates zero.
e.g.
- Did your brother travel? rates 5 marks.

- Did your brother travel to Australia? rates zero.

A 5 50 5 o0 A3 glaa adall g a9l g il (3 68a 2014 alad oY) Anilacia¥) ) gally (ald /alal) g A/ 4 5000 Aadl) Bala

1444444449494944949494949494944449494449494944949494944919494944949494949494949444949494494949494494949444

S aS At a8 a8 oS A% a8 a8 S 2% a8 4% a8 X% a8 a5 a8 a8 a5 a5 a8 a8 a5 a8 808 a8 45 200X a8 a5 a8 a8 a5 a5 a8 X a8 a8 a5 a5 a8 a8 a8 a8 a0 a8 a5 0% a8 a5 a5 50X a8 a5 a8 X a8 a5 a8 ¥ a5 a5 S X a8 a8 a5 a0 aX a5 a5 S 0N a8 S S a8 a5 5 a8



£344494494949494494949494494949494494949444949494949491949449494944949494944494949444949494949494994949494944344

S aSaS a2 2 at oSS a A A A% A% A% a5 a5 5 5 a5 S a5 S S St o A e aS A% a5 2% a5 5 a5 a5 a8 a8 S S X A A A A% A% % 0% a5 5 25 25 5 a8 8 a8 a8 a0 e A% aS aS a5 5 5 5 a5 a8 S S S a8 S A e aS aS a8 a8 a5 a5 S a5 a8 S a8 S a5 a5 8

Group 4 - From ( 25-33)

Model answers (25-28)
25-  The halls were made wider than the rest of the tunnel.
26- | wish you wouldn't/didn't (lose things).
- | wish you weren't (losing things).
- I wish you would be more careful
27- She asked them if / whether they were enjoying married life.
28- They/People/get/ have their cars / them serviced.
Remarks from (25-28)
1- Each item is allotted 8 marks.
2- Overlook spelling mistakes.

3- Deduct 2 marks for each grammar mistake provided that the total deduction
should not exceed 4 marks.

4- Any relevant answers to the above mentioned ones are accepted.
Model answers (29-30)

29- ... all past tenses.

30- ...... all present tenses + future + correct modals + simple past +
(past progressive as a result)

Remarks from (29-30)

1- Each item is allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if it is grammatically
correct.

3- Deduct 1 mark for any grammar mistake, provided that the total deduction
should not exceed 3 marks if the completion makes sense.

4- Overlook spelling mistakes unless they give rise to another meaning.
If so, deduct 1 mark provided that the total deduction should not exceed
3 marks if the completion makes sense.

5- Overlook punctuation marks.

6- Any logical completion is accepted.

7- The clause should contain a subject and a verb.

Model answers (31-33)

31- talented

32- make

33- put up with

Remarks from (31-33)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook copying mistakes.
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Group 5 - From ( 34-38)

Model answers (34-36)

34- will have / are going to have / are having /might have/may have/could have.

35- switched / had switched /must have switched/might have switched/may
have switched/ could have switched.

36- have not slept / have not been sleeping.

Remarks from (34-36)

1- Each item is allotted 6 marks.

2- Only the above mentioned answers are accepted.

3- Overlook spelling mistakes.

4- Complete (verb forms) are required, otherwise the answer rates zero.

5- Deduct 2 marks for a wrong verb form in multi-verb tenses.
(e.g. no.35 had switch)

6- In case the student writes two answers for the same number, consider the

first.
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Model answer 37
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Remarks for (37)

1- The statement is divided into three units. The first unit is allotted 4 marks,
and the other two units are allotted 3 marks each.

2- Each unit is treated separately.

3- Any sort of distortion invalidates the translation for that unit.

4- Deduct 1 mark for:

- a missing, or wrongly translated word

- a grammar mistake

- a spelling mistake if it gives rise to a new meaning

provided that the total deduction for the whole sentence shouldn't exceed 4 marks
iIf it still makes sense.

5- Any other logical translation is accepted.
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Model answer 38

38-The driver / motorist felt quilty/sorry// even though / though / although/even he

wasn't responsible for the accident.

- The driver / motorist felt guilty although the accident wasn't his responsibility /

fault/ mistake / cause.

- Although the accident wasn't his responsibility/ fault/ mistake, the driver felt

guilty.
- The driver / motorist felt guilty although he didn't cause the accident.

- The driver / motorist felt guilty although he wasn't the reason of the accident.

Remarks for 38
1- The statement is divided into two units. Each unit is allotted 4marks.
2- Each unit is treated separately.
3- Any sort of distortion invalidates the answer for that unit.
4- Deduct 1 mark for:
- a missing or wrongly translated word
- agrammar mistake
-a spelling mistake if it gives rise to a new meaning,
provided that the total deduction shouldn't exceed 3 marks if the sentence
still makes sense.

5- Any other logical translation is accepted.
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Group 6 - Composition
Remarks:

1- (50 marks) are allotted to this item.
2-Before starting the correction of the composition, the teacher should make
first reading to the whole paragraph to figure out if it is relevant to the topic
or not.
3-If a student writes more than the required number of words, his/her topic is
accepted.
4- a- On average, a paragraph between 70-80 words rates (50 marks).
b- A paragraph between 60-69 words rates (45 marks).
Deduct 1 mark from each field.
c- A paragraph between 50-59 words rates (40 marks).
Deduct 2 marks from each field.
d- A paragraph between 40-49 words rates (35 marks).
Deduct 3 marks from each field.
e- A paragraph between 25 - 39 words rates (25marks).
Deduct 5 marks from each field.
f- A paragraph less than 25 words rates (20 marks)

N.B. - Overlook the first 3 mistakes from spelling and grammar then deduct
one mark for each mistake.

5- The following chart shows the distribution of the (50 marks):
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KKK

Communication

Spelling and punctuation

Vocabulary

Grammar

Task response

Excellent outstanding
communication; very clear,
coherent and well-organised
text with complex language
when appropriate.

Very good outstanding
communication; very clear,
coherent and well-organised
text with complex language
when appropriate.

Good outstanding
communication; very clear,
coherent and well-organised
text with complex language
when appropriate.

(8 marks)

extremely accurate spelling
and punctuation in simple
and complex language.

extremely accurate spelling
and punctuation in simple
and complex language.

accurate spelling and
punctuation in simple and
complex language.

(8 marks)

very wide range of accurate
and appropriate vocabulary
required for the task.

very wide range of accurate
and appropriate vocabulary
required for the task.

wide range of accurate and
appropriate vocabulary
required for the task.

(8 marks)

very wide range of accurate
and appropriate grammar
required for the task.

very wide range of accurate
and appropriate grammar
required for the task.

wide range of accurate and
appropriate grammar
required for the task.

(8 marks)

the task response is
comprehensive, relevant and
well-developed.

(10 marks)

the task response is
comprehensive, relevant and
well-developed.

(9 marks)

the task response is
comprehensive, relevant and
well-developed.

(8 marks)

meaning is clear and easy to
understand; good
organization.

(7 marks)

good punctuation and
spelling; errors may occur in
complex language.

(7 marks)

a good range of vocabulary;
few errors occur except in
complex vocabulary.

(7 marks)

a good range of grammar
usage; few errors occur
except in complex structures.

(7 marks)

response is wholly relevant
but is partially developed or
not fully exploited.

(7 marks)

overall meaning is conveyed
with some errors but without
undue problems for the
reader.

(Smarks)

errors of punctuation and
spelling occur but don't
cause undue problems for the
reader.

(5marks)

adequate knowledge of a
range of the vocabulary
items required to carry out
the task.

(5 marks)

adequate knowledge of a
range of the grammar; more
accurate than inaccurate.

(5 marks)

largely relevant response but
without much development
or with some irrelevance.

(5 marks)

meaning is only conveyed
with significant effort on the
part of the reader.

(4marks)

errors of punctuation and
spelling create problems for
the reader.

(4 marks)

some vocabulary knowledge
but frequent errors or gaps
mean vocabulary is
insufficient for the task.

(4 marks)

some grammar knowledge
but frequent errors or gaps
mean grammar is insufficient
for the task.

(4 marks)

some relevant response to
the task, though at times the
task appears not to have been
understood.

(4 marks)

N.B. - Deduct 1 mark once for the same repeated mistakes.
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Overlook the first 3 mistakes in spelling and grammar .
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